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L> divide v conquer
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< Basic Algorrthm
| ® v€ +he number of elements of @ 1S 0 or 1, return
® Pick any element v 1 a; s 13 the por
3 Partition - 3v¢ b 1L digjornt groaps :
L=3 X €S-3ug | ve=V¢
R=3 %€ S-3L | %>=v¢
@ Return the resuit of quicksort (L) v quicksort (R)

- <aConcern of Quueksort
| -Choosing the pivot (v)
-The 1deal prvot s ene that causes L and R to
be the Same size (le. v s the middle element in he Yrted
- What technique s best o ps‘ckch @ Qeed priot? "‘”‘“&S)
| L> Median of Three
~medion of 4st, last, and mrddle element
Tuge that a3 your pivet value
= What do you do when ofher element(3) == pivot value”
b 1his s hondled through he mrhfﬁbnmg of the arroy
- the_element il gets sunpped
=[see parthoning Strateqy below 1o See hovd 1 handled
- For hﬁoﬂmg S q alg@r«'fhmwa“gﬂ
®© 3wap e pivet with the last element
® gong from left 1o right  find an element that s >= prvot ~ |

gomq from nght 1o left, find an element *hm‘w
(3 swap these elements, TePeAY step 2 wihi t<4 \Pwot‘gf
@ swap the pvot w( the element ot ¢




